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( 10 2 20 ) 

1. 2 8    
A -8    B 8    C 6    D -6  

2.    
  A 32 =6  

B 24 = 16  
C 8 8=0  
D 5 2= 3  

3.    
  A 2 - 2 0ab ba  

B 2 2 22 3 6a a a  
C 3 4 1xy xy  
D 3 3 62 3 5x x x  

4.    

  223.14 0.1010010001 1.99
7 3

 

A 1    B 2    C 3    D 4  
5. m n 20%    

  A 0.8 m n  

B 0.8 m n  

C 0.2 m n  

D 0.2 m n  

6. 3216.1 1 2 2 3
2

   

A 3     B 4    C 5    D 6 
7.    

A
5
x 1

5
 

B 3 1
3

x  

C
52 m 1 

D 2 5 33x y xy  



 

8. a b 1 2a b a b

   

 
A 1      B 2 3a      C 2 3b    D -1 

9. 2 2 13m mn 23 2 21mn n 2 22 13 6 44m mn n    
A 45     B 55       C 65    D 75 

10. a 2 2
2 a

a “ ” 3 “ ”             

2 = 2
2 3

-2 “ ” 2 1=
2 2 2 1 3a 2a 1a “ ” 3a 2a

“ ” 4a 3a “ ” … 2018 =a    

A 3      B -2       C 1
2

        D 4
3  

 
( 10 2 20 ) 

11.“ ” 67500 67500  
  _  

12.“ x 3 5 ”   _  

13. 23 4 2mm x m x m   _  

14. 5
6

  _ 7
8

“ ” “ ” “ ”  

15. x a x 3 3a x a _   _  

16. 2015 20160.25 4    _  

17. CCTV “ a b
c a b c   _ ” 

18. A 2 B 5      
C, C 1 A   _  

 

19. 4m 6n m n m n m n   _  

 
 

b a
1 210

5

2
1

CB A



 

20. x 15       
x   _  

 
( 8 60 ) 

   21.( 5 ) 14 2 2 3.5 0 1
2

- 

 

     1  
     2 “ ”  
     3  

 
 
 
 
 
 
 
 

 22. 3 18 : 

1 8 15 9 12          2 3 1 13 1 3
5 2 4

 

  

10
2x+1x



 

3 2 7 11 12 36 5
9 12 6

 

 
 
 

4 2017 21 3 11 5 240 4
3 5 4

 

 
 
 
 

5 2 2 2 25 3 4 3a b ab ab a b       6 2 2 2 22 2 2 1 3 2x y xy x y xy  

 
 
 
 
 
 
 
 
 
 

23. 4  

2 2 2 233 2 2 3
2

x y xy xy x y xy xy 3x 1
3

y  

 
 
 
 
 
 

24. 5 10  

1 1 2 1
3 6

x xx            2 0.4 0.9 0.03 0.02 5
0.5 0.03 2
x x x  

  



 

25 . ( 5 ) a
30 b 40 a b  

1 40% 30% ? 
 ( a b ) 

2
2

a b  

? 
 
 
 
 
 
 
 

26. 6 “ ” a b a b a b  

       (1) : 3 5  

       (2) : 2 4 5   

       (3) 2 1 6x x x  

 
 
 
 
 

  

 27. 6
2 3 2 3
a b a b : a=b=0 .

2 3 2 3
a b a b a b “ ” a b  

1 1 b  “ ” b  

2 “ ” a b 0a 1a  

3 m n “ ” 22 4 2 3 1
3

m n m n  

  



 

28 . ( 6 ) 1 OABC OA O OABC
12 OC 3  

 (1) A __________  
(2) OABC O'A'B'C'       

O'A'B'C' OABC ( 2 ) S  
S OABC A'

____________  
A AA' x  

i. S=4 x ______________  

ii.D AA' E OO' 1
3

OE OO' D E

x  

 
 

11 O'

C' B'

A'O

C B

A
21

O

C B

A
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